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Computer Architecture, ELE 475, Fall 2014, Problem Set #5A 

Note: We have procured permission to post these problems from Computer Architecture: A 

Quantitative Approach from the publisher. 

Problem #1 (10 Points): Page 254 in H&P5, Problem 3.13 

For problem #1: Assume that 3 stall cycles after load means load has a latency of 4. 
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Problem # 10 (10 Points): Page 420 in H&P5, Problem 5.11 

 

 

 

 

Copyright © 2011, Elsevier Inc. All rights Reserved 



4 
 

 

 

 

 

Copyright © 2011, Elsevier Inc. All rights Reserved 



5 
 

 

 

 

 

 

 

 

 

 

 

Copyright © 2011, Elsevier Inc. All rights Reserved 


